County: DuPage County Division of Transportation

Project: 2026-2027 Traffic Signal and Street Light Maintenance

Section: 26-TSMTC-05-GM

Date of Letting: September 4, 2025

Item	Items	Unit	Aurora	Engineer's Estimate Meade Inc.		H&H Electric Co.			
No.			Quantity	Unit Price	Cost	Unit Price	Cost	Unit Price	Cost
T-1	TRAFFIC SIGNAL LOCATION	EACH	3048	\$400.00	\$1,219,200.00	\$351.77	\$1,072,194.96	\$393.02	\$1,197,924.96
T-2	SPAN WIRE TRAFFIC SIGNAL LOCATION	EACH	0	\$184.80	\$0.00	\$183.00	\$0.00	\$642.16	\$0.00
T-3	FLASHING BEACON, OVERHEAD MOUNT, ONE OR MORE FACES	EACH	0	\$47.30	\$0.00	\$67.00	\$0.00	\$11.84	\$0.00
T-4	FLASHING BEACON, LOW MOUNT, ONE OR MORE FACES	EACH	0	\$15.40	\$0.00	\$33.50	\$0.00	\$11.84	\$0.00
T-5	LAYER II (DATALINK) SWITCH	EACH	0	\$23.10	\$0.00	\$72.00	\$0.00	\$7.10	\$0.00
T-6	LAYER III (NETWORK) SWITCH	EACH	0	\$31.90	\$0.00	\$143.00	\$0.00	\$7.10	\$0.00
T-7	REMOTE CONTROLLED VIDEO SYSTEM	EACH	0	\$1,100.00	\$0.00	\$100.00	\$0.00	\$11,181.07	\$0.00
T-8	PEDESTRIAN CROSSING SIGNAL LOCATION	EACH	0	\$95.70	\$0.00	\$103.00	\$0.00	\$35.51	\$0.00
T-9	FIRE STATION SIGNAL LOCATION	EACH	24	\$161.70	\$3,880.80	\$211.00	\$5,064.00	\$35.51	\$852.24
L-1	LUMINAIRE	EACH	5328	\$10.71	\$57,062.88	\$9.73	\$51,841.44	\$2.63	\$14,012.64
L-2	UNDERPASS LIGHTING	EACH	0	\$23.80	\$0.00	\$57.26	\$0.00	\$64.45	\$0.00
L-3	SIGN LIGHTING	EACH	0	\$87.49	\$0.00	\$93.05	\$0.00	\$1,866.64	\$0.00
L-4	WASHINGTON STREET NO PARKING SIGNS SYSTEM COMPLETE	EACH	0	\$118.18	\$0.00	\$139.66	\$0.00	\$94.69	\$0.00
PS-1	PUMP STATION	EACH	0	\$8,785.70	\$0.00	\$7,987.00	\$0.00	\$61,179.07	\$0.00
EW-1	BUDGETARY ALLOWANCE FOR EXTRA WORK	LSUM	100,000	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
EW-2	BUDGETARY ALLOWANCE FOR EXTRA WORK: NEW DUDOT BUILDING FIBER	LSUM	0	\$1.00	\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
EW-3	BUDGETARY ALLOWANCE FOR EXTRA WORK: PEDESTRIAN	LSUM	0	\$1.00	\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
KD-1	BUDGETARY ALLOWANCE FOR EQUIPMENT KNOCKDOWNS	LSUM	50,000	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
EQ-1	SIGNAL HEAD, LED, 1-FACE, 1-SECTION, MOUNTING AS	EACH	0	\$187.00	\$0.00	\$170.00	\$0.00	\$1,202.74	\$0.00
EQ-2	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MOUNTING AS	EACH	16	\$440.00	\$7,040.00	\$800.00	\$12,800.00	\$0.01	\$0.16
EQ-3	SIGNAL HEAD, LED, 1-FACE, 4-SECTION, MOUNTING AS	EACH	8	\$550.00	\$4,400.00	\$500.00	\$4,000.00	\$0.01	\$0.08
EQ-4	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MOUNTING AS	EACH	16	\$550.00	\$8,800.00	\$1,050.00	\$16,800.00	\$0.01	\$0.16
EQ-5	RELOCATE EXISTING TRAFFIC SIGNAL HEAD	EACH	12	\$55.00	\$660.00	\$50.00	\$600.00	\$0.01	\$0.12
EQ-6	TRAFFIC SIGNAL BACKPLATE	EACH	16	\$55.00	\$880.00	\$50.00	\$800.00	\$165.00	\$2,640.00
EQ-7	TRAFFIC SIGNAL BACKPLATE (RETROREFLECTIVE)	EACH	16	\$192.50	\$3,080.00	\$225.00	\$3,600.00	\$171.00	\$2,736.00
EQ-8	RELAMP COMBINATION STREET LIGHTING - LED	EACH	8	\$495.00	\$3,960.00	\$675.00	\$5,400.00	\$541.00	\$4,328.00
EQ-9	RELAMP COMBINATION SREET LIGHTING - HPS	EACH	2	\$55.00	\$110.00	\$50.00	\$100.00	\$0.01	\$0.02
EQ-10	PEDESTRIAN SIGNAL HEAD, LED, MOUNTING AS SPECIFIED	EACH	4	\$399.30	\$1,597.20	\$363.00	\$1,452.00	\$0.01	\$0.04
EQ-11	PEDESTRIAN SIGNAL HEAD, LED, COUNTDOWN, MOUNTING AS SPECIFIED	EACH	20	\$467.50	\$9,350.00	\$550.00	\$11,000.00	\$0.01	\$0.20
EQ-12	PEDESTRIAN PUSH BUTTON	EACH	16	\$213.40	\$3,414.40	\$194.00	\$3,104.00	\$0.01	\$0.16
EQ-13	AUDIBLE/ACCESSIBLE PEDESTRIAN SIGNALS (APS), 1 PUSHBUTTON, MOUNTING AS SPECIFIED	EACH	4	\$750.00	\$3,000.00	·	\$4,000.00		\$17,654.64
EQ-13A	AUDIBLE/ACCESSIBLE PEDESTRIAN SIGNALS (APS) 4 PUSHBUTTONS, MOUNTING AS SPECIFIED	EACH	3	\$6,000.00	\$18,000.00	\$7,392.00	\$22,176.00	\$6,372.54	\$19,117.62

Item	Items	Unit	Aurora	Enginee	Engineer's Estimate Meade Inc.		H&H Electric Co.		
No.			Quantity	Unit Price	Cost	Unit Price	Cost	Unit Price	Cost
EQ-13B	AUDIBLE/ACCESSIBLE PEDESTRIAN SIGNALS (APS) 6 PUSHBUTTONS, MOUNTING AS SPECIFIED	EACH	3	\$7,500.00	\$22,500.00	\$9,194.00	\$27,582.00	\$7,541.31	\$22,623.93
EO-13C	AUDIBLE/ACCESSIBLE PEDESTRIAN SIGNALS (APS) 8 PUSHBUTTONS, MOUNTING AS SPECIFIED	EACH	4	\$9,000.00	\$36,000.00	\$10,986.00	\$43,944.00	\$8,806.59	\$35,226.36
EQ-14	RELOCATE EXISTING PEDESTRIAN PUSH BUTTON	EACH	4	\$55.00	\$220.00	\$50.00	\$200.00	\$0.01	\$0.04
EQ-15	EMERGENCY VEHICLE PREEMPTION SYSTEM	EACH	3	\$6,600.00	\$19,800.00	\$6,800.00	\$20,400.00	\$5,735.68	\$17,207.04
EQ-16	INSTALL SPAN WIRE TRAFFIC SIGNAL, FOUR APPROACHES OR	EACH	1	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	\$0.01	\$0.01
FO-17	REMOVE EXISTING SPAN WIRE TRAFFIC SIGNAL, FOUR APPROACHES OR LESS	EACH	0	\$100.00	\$0.00	\$0.01	\$0.00	\$46,587.78	\$0.00
EQ-18	FULL ACTUATED CONTROLLER	EACH	2	\$5,500.00	\$11,000.00	\$5,000.00	\$10,000.00	\$4,738.52	\$9,477.04
EQ-19	INSTALL EXISTING TRAFFIC SIGNAL CONTROLLER	EACH	3	\$110.00	\$330.00	\$100.00	\$300.00	\$0.01	\$0.03
EQ-20	INSTALL UPDATED PROM SET AT LOCAL OR MASTER CONTROLLER	EACH	2	\$1.10	\$2.20	\$1.00	\$2.00	\$0.01	\$0.02
EQ-21	UPGRADE EXISTING LOCAL CONTROLLER SOFTWARE TO NTCIP	EACH	2	\$275.00	\$550.00	\$750.00	\$1,500.00	\$0.01	\$0.02
EQ-22	FULL-ACTUATED CONTROLLER IN TYPE IV CABINET, NEMA TS-2	EACH	1	\$22,000.00	\$22,000.00	\$20,000.00	\$20,000.00	\$20,356.11	\$20,356.11
FO-23	FULL-ACTUATED CONTROLLER IN TYPE IV CABINET, NEMA TS-2, SPECIAL	EACH	1	\$24,200.00	\$24,200.00	\$22,000.00	\$22,000.00	\$20,707.11	\$20,707.11
FO-24	FULL-ACTUATED CONTROLLER IN TYPE IV CABINET, NEMA TS-2, RAILROAD	EACH	1	\$27,500.00	\$27,500.00	\$25,000.00	\$25,000.00	\$21,471.11	\$21,471.11
EQ-25	INSTALL EXISTING TRAFFIC SIGNAL CABINET	EACH	2	\$1,760.00	\$3,520.00	\$1,600.00	\$3,200.00	\$0.01	\$0.02
EQ-26	MODIFY EXISTING CONTROLLER AND CABINET	EACH	8	\$110.00	\$880.00	\$400.00	\$3,200.00	\$0.01	\$0.08
EQ-27	REMOVE EXISITING TRAFFIC SIGNAL EQUIPMENT	EACH	0	\$110.00	\$0.00	\$500.00	\$0.00	\$3,727.02	\$0.00
FO-28	ROTATE SIGNAL PHASING AT AN EXISTING TRAFFIC SIGNAL INTERSECTION	EACH	1	\$550.00	\$550.00	\$500.00	\$500.00	\$0.01	\$0.01
EQ-29	UNINTERRUPTIBLE POWER SUPPLY (UPS), SPECIAL	EACH	3	\$7,150.00	\$21,450.00	\$8,500.00	\$25,500.00	\$6,893.90	\$20,681.70
EQ-30	BATTERY (SET), UPS	EACH	40	\$1,870.00	\$74,800.00	\$2,500.00	\$100,000.00	\$1,726.95	\$69,078.00
EQ-31	DETECTOR LOOP	FOOT	750	\$22.00	\$16,500.00	\$22.00	\$16,500.00	\$13.32	\$9,990.00
	GALVANIZED STEEL UNDERGROUND CONDUIT, 2-INCH	FOOT	100	\$11.00	\$1,100.00	\$20.00	\$2,000.00	\$0.01	\$1.00
EQ-33	GALVANIZED STEEL UNDERGROUND CONDUIT, 2-1/2 INCH	FOOT	100	\$17.60	\$1,760.00	\$28.00	\$2,800.00	\$0.01	\$1.00
	GALVANIZED STEEL UNDERGROUND CONDUIT, 3-INCH	FOOT	100	\$20.00	\$2,000.00	\$36.00	\$3,600.00	\$0.01	\$1.00
	GALVANIZED STEEL UNDERGROUND CONDUIT, 3-1/2 INCH	FOOT	100	\$24.50	\$2,450.00	\$36.00	\$3,600.00	\$0.01	\$1.00
EQ-36	GALVANIZED STEEL UNDERGROUND CONDUIT, 4-INCH	FOOT	100	\$27.50	\$2,750.00	\$50.00	\$5,000.00	\$0.01	\$1.00
EQ-37	COILABLE NON-METALLIC UNDERGROUND CONDUIT (CNC), 2-	FOOT	2000	\$5.50	\$11,000.00	\$7.50	\$15,000.00	\$0.01	\$20.00
	ELECTRIC CABLE IN CONDUIT, NO. 14 1/C	FOOT	0	\$1.10	\$0.00	\$1.50	\$0.00	\$8.69	\$0.00
	ELECTRIC CABLE IN CONDUIT, NO. 14 2/C	FOOT	600	\$1.10	\$660.00	\$1.50	\$900.00	\$0.01	\$6.00
	ELECTRIC CABLE IN CONDUIT, NO.14 3/C	FOOT	600	\$1.10		\$2.00	\$1,200.00		\$6.00
_	ELECTRIC CABLE IN CONDUIT, NO.14 5/C	FOOT	600	\$1.10		\$2.00	\$1,200.00	\$0.01	\$6.00
	ELECTRIC CABLE IN CONDUIT, NO.14 7/C	FOOT	600	\$1.10		\$2.00	\$1,200.00	\$0.01	\$6.00
-	ELECTRIC CABLE IN CONDUIT, TRACER, NO. 14 1/C	FOOT	1500	\$1.10	\$1,650.00	\$1.00	\$1,500.00	\$0.01	\$15.00
	ELECTRIC CABLE IN CONDUIT, NO.14 2/C, TWISTED, SHIELDED	FOOT	500	\$1.10		\$1.50	\$750.00	\$0.01	\$5.00
	ELECTRIC CABLE IN CONDUIT, NO. 6, 2/C	FOOT	500	\$2.20	\$1,100.00	\$4.00	\$2,000.00	\$0.01	\$5.00
EQ-46	ELECTRIC CABLE IN CONDUIT, NO. 10, 2/C	FOOT	500	\$1.10	\$550.00	\$2.00	\$1,000.00	\$0.01	\$5.00

Item	Items	Unit	Aurora	Enginee	er's Estimate	Me	ade Inc.	H&H E	lectric Co.
No.			Quantity	Unit Price	Cost	Unit Price	Cost	Unit Price	Cost
I ⊢()-47	EMERGENCY VEHICLE PRIORITY SYSTEM LINE SENSOR CABLE, NO. 20, 3/C	FOOT	600	\$1.10	\$660.00	\$1.00	\$600.00	\$0.01	\$6.00
EQ-48	ELECTRIC CABLE IN CONDUIT, COAXIAL	FOOT	600	\$1.10	\$660.00	\$2.50	\$1,500.00	\$0.01	\$6.00
EQ-49	ELECTRIC CABLE IN CONDUIT, NO. 18, 3/C FOR VIDEO	FOOT	600	\$1.10	\$660.00	\$1.00	\$600.00	\$0.01	\$6.00
EQ-50	ELECTRIC CABLE IN CONDUIT, COMMUNICATION, NO. 16, 51/2	FOOT	500	\$1.10	\$550.00	\$1.00	\$500.00	\$0.01	\$5.00
EQ-51	OUTDOOR RATED NETWORK CABLE	FOOT	600	\$4.40	\$2,640.00	\$4.00	\$2,400.00	\$0.01	\$6.00
FO-52	FIBER OPTIC CABLE IN CONDUIT, NO. 62.5/125, 36 FIBER (12	FOOT	3000	\$3.30	\$9,900.00	\$3.00	\$9,000.00	\$2.40	\$7,200.00
	MULTIMODE AND 24 SINGLEMODE)	FOOT	4000	Φ0.00	ФО ООО ОО	Φ0.00	фо ооо оо	44.05	\$4.050.00
	FIBER OPTIC CABLE IN CONDUIT, 24 SINGLEMODE	FOOT	1000	\$3.30	\$3,300.00	\$3.00		\$1.95	\$1,950.00
,	FIBER OPTIC CABLE IN CONDUIT, 48 SINGLEMODE	FOOT	3000	\$3.30	\$9,900.00	\$3.00	. ,	\$2.07	\$6,210.00
	TRANSCEIVER - FIBER OPTIC	EACH	1	\$2,805.00	\$2,805.00	\$2,000.00		\$0.01	\$0.01
	SPLICE FIBER OPTIC CABLE IN CABINET	EACH	45	\$55.00	\$2,475.00	\$50.00		\$164.60	\$7,407.00
	TERMINATE FIBER IN CABINET	EACH	60	\$55.00	\$3,300.00	\$50.00	. ,	\$151.11	\$9,066.60
	SUBMERSIBLE FIBER SPLICE ENCLOSURE	EACH	3	\$550.00	\$1,650.00	\$1,000.00			\$7,413.57
	LAYER II (DATALINK) SWITCH, DuPAGE / LOMBARD	EACH	0	\$1,650.00	\$0.00	\$2,500.00	\$0.00	\$9,547.95	\$0.00
_	LAYER II (DATALINK) SWITCH, NAPERVILLE	EACH	0	\$10,450.00	\$0.00	\$2,500.00	\$0.00	\$8,541.22	\$0.00
EQ-61	LAYER II (DATALINK) SWITCH, AURORA	EACH	8	\$4,950.00	\$39,600.00	\$2,500.00	\$20,000.00	\$4,541.22	\$36,329.76
EQ-62	LAYER III (NETWORK) SWITCH, DUPAGE / LOMBARD	EACH	0	\$10,450.00	\$0.00	\$10,000.00	\$0.00	\$27,547.23	\$0.00
EQ-63	LAYER III (NETWORK) SWITCH, NAPERVILLE	EACH	0	\$10,450.00	\$0.00	\$5,000.00	\$0.00	\$8,541.22	\$0.00
EQ-64	LAYER III (NETWORK) SWITCH, AURORA	EACH	4	\$13,750.00	\$55,000.00	\$4,917.00	\$19,668.00	\$14,541.22	\$58,164.88
EQ-65	REMOTE CONTROLLED VIDEO SYSTEM	EACH	2	\$8,000.00	\$16,000.00	\$5,700.00	\$11,400.00	\$0.01	\$0.02
EQ-66	REMOTE CONTROLLED VIDEO SYSTEM, PTZ NETWORK CAMERA (AURORA)	EACH	6	\$6,270.00	\$37,620.00	\$5,700.00	\$34,200.00	\$4,801.47	\$28,808.82
	REMOTE CONTROLLED VIDEO SYSTEM, NETWORK CAMERA	EACH	2	\$12,000.00	\$24,000.00	\$5,700.00	\$11,400.00	\$4,801.47	\$9,602.94
EQ-68	SERVICE INSTALLATION, POLE MOUNT	EACH	2	\$6,270.00	\$12,540.00	\$3,500.00	\$7,000.00	\$0.01	\$0.02
	SERVICE INSTALLATION, GROUND MOUNT	EACH	1	\$2,200.00	\$2,200.00	\$4,000.00	\$4,000.00	\$0.01	\$0.01
	CONCRETE FOUNDATION, TYPE A	FOOT	16	\$110.00	\$1,760.00	\$250.00	\$4,000.00	\$0.01	\$0.16
	CONCRETE FOUNDATION, TYPE A, 12-INCH DIAMETER	FOOT	16		\$1,760.00	\$200.00	\$3,200.00	\$0.01	\$0.16
	CONCRETE FOUNDATION, TYPE C	FOOT	8	\$110.00	\$880.00	\$100.00	\$800.00	\$0.01	\$0.08
	CONCRETE FOUNDATION, TYPE E, 30-INCH DIAMETER	FOOT	60	\$110.00	\$6,600.00	\$200.00		\$0.01	\$0.60
	CONCRETE FOUNDATION, TYPE E, 36-INCH DIAMETER	FOOT	60	\$110.00	\$6,600.00	\$500.00		\$0.01	\$0.60
	CONCRETE FOUNDATION, TYPE E, 42-INCH DIAMETER	FOOT	60	\$220.00	\$13,200.00	\$800.00		\$0.01	\$0.60
	CONCRETE HANDHOLE	EACH	4	\$330.00	\$1,320.00	\$2,000.00	\$8,000.00	\$0.01	\$0.04
	CONCRETE HEAVY DUTY HANDHOLE	EACH	2	\$385.00	\$770.00			\$0.01	\$0.02
	REBUILD EXISTING HANDHOLE	EACH							\$0.02
	REBUILD EXISTING HEAVY DUTY HANDHOLE	EACH	2	\$1,100.00		\$1,250.00			\$0.02
	DRILL EXISTING HANDHOLE	EACH	g g	\$1,100.00		\$200.00			\$0.08
	TRAFFIC SIGNAL GROUNDING AND ELECTRICAL SERVICE	EACH	1	\$2,200.00		·			\$0.01
	VIDEO DETECTION SYSTEM, 1 DETECTOR, NO CABINET MODULE	EACH	1	\$12,000.00					\$6,402.29
	VIDEO DETECTION SYSTEM, 2 DETECTORS, CABINET MODULE	EACH	1	\$1,000.00		\$19,287.00		\$13,876.59	\$13,876.59
	VIDEO DETECTION SYSTEM (COMPLETE INTERSECTION)	EACH	1	\$55,000.00		\$25,000.00		\$24,887.17	\$24,887.17
	VIDEO DETECTION SYSTEM (COMPLETE INTERSECTION), SPECIAL		1						
EQ-820	VIDEO DETECTION STSTEM (COMPLETE INTERSECTION), SPECIAL	EACH	1	\$60,000.00	გ ი υ,υυυ.00	\$39,000.00	გა ყ,000.00	\$37,744.17	\$37,744.17

Item	Items	Unit	Aurora	Engineer's Estimate		Meade Inc.		H&H Electric Co.	
No.			Quantity	Unit Price	Cost	Unit Price	Cost	Unit Price	Cost
EQ-83	RADAR VEHICLE DETECTION SYSTEM (COMPLETE INTERSECTION)	EACH	1	\$25,000.00	\$25,000.00	\$19,250.00	\$19,250.00	\$31,051.09	\$31,051.09
EQ-83A	RADAR VEHICLE DETECTION SYSTEM (NO CABINET MODULE, 1 APPROACH)	EACH	1	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00	\$4,841.92	\$4,841.92
EQ-84	HEMISPHERICAL QUAD VIDEO DETECTION SYSTEM (COMPLETE INTERSECTION)	EACH	1	\$22,000.00	\$22,000.00	\$23,000.00	\$23,000.00	\$21,422.29	\$21,422.29
EQ-85	RESERVED	EACH	0		\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
EQ-86	RESERVED	EACH	0		\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
EQ-87	PEDESTRIAN PUSH BUTTON POST	EACH	8	\$968.00	\$7,744.00	\$1,500.00	\$12,000.00	\$0.01	\$0.08
EQ-88	TRAFFIC SIGNAL POST, 10 FT	EACH	1	\$1,100.00	\$1,100.00	\$1,800.00	\$1,800.00	\$0.01	\$0.01
	TRAFFIC SIGNAL POST, 14 FT	EACH	2	\$1,100.00	\$2,200.00	\$1,800.00	\$3,600.00	\$0.01	\$0.02
EQ-90	TRAFFIC SIGNAL POST, 16 FT	EACH	4	\$1,100.00	\$4,400.00	\$2,000.00	\$8,000.00	\$0.01	\$0.04
EQ-91	TRAFFIC SIGNAL POST, 18 FT	EACH	4	\$1,100.00	\$4,400.00	\$2,200.00	\$8,800.00	\$0.01	\$0.04
EQ-92	PAINT TRAFFIC SIGNAL POST AND BASE	EACH	4	\$1,100.00	\$4,400.00	\$500.00	\$2,000.00	\$0.01	\$0.04
EQ-93	PAINT MAST ARM AND POST	EACH	4	\$550.00	\$2,200.00	\$1,600.00	\$6,400.00	\$0.01	\$0.04
EQ-94	PAINT COMBINATION MAST ARM AND POLE	EACH	4	\$1,760.00	\$7,040.00	\$1,800.00	\$7,200.00	\$0.01	\$0.04
EQ-95	SPECIAL MAINTENANCE SERVICE CALL	EACH	0	\$671.00	\$0.00	\$610.00	\$0.00	\$1,863.51	\$0.00
EQ-96	INSTALL BROADBAND RADIO INTERCONNECT SYSTEM	EACH	6	\$7,700.00	\$46,200.00	\$6,000.00	\$36,000.00	\$4,481.79	\$26,890.74
EQ-97	INSTALL AC SOLID STATE POWER RELAY	EACH	10	\$770.00	\$7,700.00	\$450.00	\$4,500.00	\$332.95	\$3,329.50
EQ-98	TRAFFIC SIGNAL MAST ARM SHROUD MODERNIZATION	EACH	0	\$100.00	\$0.00	\$250.00	\$0.00	\$907.49	\$0.00
EQ-99	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING	FOOT	600	\$1.10	\$660.00	\$2.00	\$1,200.00	\$0.01	\$6.00
CH-1	CENTURY HILL STREET LIGHT REPAIR, POST TOP MOUNTED	EACH	0	\$220.00	\$0.00	\$200.00	\$0.00	\$2,431.70	\$0.00
CH-2	CENTURY HILL STREET LIGHT REPAIR, LUMINAIRE ARM MOUNTED	EACH	0	\$250.00	\$0.00	\$200.00	\$0.00	\$3,297.56	\$0.00
CH-EW	CENTURY HILL BUDGETARY ALLOWANCE FOR EXTRA WORK	LSUM	0	\$1.00	\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
CH-KD	CENTURY HILL BUDGETARY ALLOWANCE FOR KNOCKDOWNS	LSUM	0	\$1.00	\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
DU-EW	DUPAGE COUNTY IT/FACILITIES EXTRA WORK	L SUM	0	\$1.00	\$0.00	\$1.00	\$0.00	\$1.00	\$0.00
			TOTAL		\$2,357,081.48		\$2,224,165.40		\$1,998,801.76